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void main(int argc, char *argv[])

{

Oargce0000000D00000O00OO0Oargv]0]0argv(l]000000D0000O0OOO
gogoooood
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#include <stdio.h>
#include <stdlib.h>

int main(int argc, char *argv[])

{
FILE *fp;
int c;

if ((fp = fopen(argv[1], "r")) == NULL){
printf("Can’t open File\n");
exit(1);

}

while((c = getc(fp)) != EOF){
putchar(c);
}

fclose(fp);

return O;
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/*

gbobobobbooi1booboobobobobboboocopryh oo
oodo
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*/

#include <stdio.h>
#include <stdlib.h>

int main(int argc, char *argv[])
{

int c;

FILE xfpi, *fpo;

if(argc '= 3){



printf ("Arg is not correct\n");

exit(1);

}

if ((fpi = fopen(argv([1], "r")) == NULL){
printf("Can’t open File\n");
exit(1);

}

if ((fpo = fopen(argv[2], "w")) == NULL){

printf("Can’t creat File\n");
exit(1);
}

while((c = getc(fpi)) != EOF){
putc(c, fpo);
}

fclose(fpi);
fclose(fpo);

return O;
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/ sk sk ok sk ok ok sk sk sk sk ok sksk sk sk ok sk sk sk sk ok sksk sk o /
/* sum2.c x/
/* ooooooooo */
/¥ 0000000000004,/
/ 0000000000004 =/
/ 0000000000000 =/
/x 000 x/
/* C:\Users\odaka\dl\chi>sum2 */
/s sk ok sk sk ok ok sk sk sk sk ok sksk sk sk ok sk sk sk sk ok sk sk sk o /



/*Visual Studio OO OOOOO =/
#define _CRT_SECURE_NO_WARNINGS

/0 0000000000000/
#include <stdio.h>
#include <stdlib.h>

/* 0000000 */
#define BUFSIZE 256 /000000000 x*/

[ %3k sk sk ok sk sk ok ok sk ok sk sk ok ok k /
/* main() OO */
[ HFAEA ARk kR ok ok ok /

int main()
{

char linebuf [BUFSIZE] ;/x0 0000 0O=*/
double data ;/x0 0000 %/

double sum=0.0 ;/*0 *x/

double sum2=0.0 ;/x200 %/

while(fgets(linebuf,BUFSIZE,Stdin)!=NULL){
/000000000000000 %/
if (sscanf (linebuf,"%1f",&data) !'=0){/*0 00000 */
sum+=data ;
sum2+=datax*data ;
printf ("%1£\t%1f\n",sum,sum2) ;
}
}

return O ;



